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Example — 6 : A body consists of a right circular solid
placed on a solid hemisphere of radius

the position of the centre of gravity of

cone of height 40mm and radius 40mm
30mm of the same material. Determine

. the body.
Solution :

The composite solid is symmetrical abouyt y-axis. Let point P be the point of reference.

2R+h 2 x40+ 40
=22.23mm. x
Example — 7 : A right circular cone of height 120mm is

placed on a cylinder of height 30mm. The )

] |
| 120 mm
bases of both the sides are equal. |
I
|
f

.1_30mm

Determine the distance of C.G of the
composite solid from the bottom base. @

Solution : : r I

The composite solid is symmetrial about Y-axis.
Let the base of cylinder be the plane of reference.

VWtV ),
v, +V,

y:

(nrz x30)><—3—q+(£><r2 x120)x(30+@)
2. A3 4

i 30+§r2 % 120

150 (120
5 30"'5*'5"‘(—4’*30) 450 +2400
= 120 30+ 40

30+T

=40.71mm.

Scanned by CamScanner



